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&
1. (a) Fill in the blanks : 1x5=5
(i) Non-development of chlorophyll in
plants is called

(i) The RQ volume of fats iIs___ than
unity.

(i) Growth is an irreversible increase
in mass, weight and

/622 ( Turn Over )



(2)

(iv) Seeds which do not have dormancy
are called . i

(v) The leaflets of Indian telegraph

plant moves up and down due to
the variation of of the petiole.

| —

(b). Write short notes on the following : 3x37
(i) Efficiency of C, plants
(ii) Sigmoid curve

_(iii) Diffusion pressuyre deficit

Describe, the Calvin ¢ycle. How does this

cycle differ from Hatch-Slack cycle? 8+3
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W
hat are macroelementg? Describe their

roles in plant s
Nutrition
antagonism? ity hat

Or
What are cytokinin

) s? :
action angd physio] Describe their mode of

Ogical effects,

o iy o Short—day and
_ - What gl phytochrome

P16/622 ; . 2+6+4=11

(3)

or

Write explanatory notes on the following :
6+6=12

(@) ETS in respiration

(b) Physiological effects of water deficit
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